Cosine Law MPM2DU

When we don’t have a right angle triangle and Sine Law may not be an option

14m Can you solve for the unknown?

No!

8m

We need a new formula to solve this triangle.

Mr. Singh

the pattern?

Cosine Law: In A ABC B
az= b? +c2-2bccosA
c a
**use to find a side length**
when given 2 sides and a A
contained angle b
Similar Equations...
bZ?=a2+c?- 2ac cosB
cZ2=a?+ b2- 2ab cosC
Can you see
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Ex. 1: Determine the unknown variable using the cosine law.
M= 413 - 2001 cos 57
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? hint:need to find 3rd side

4cm first!!!!
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Ex.3 Given AABC, where A= 48°, b= 17 cm and c= 25 cm, solve the
triangle.
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Sine Law VS. Cosine Law

Use when you have an Use when you have 2 sides
angle- side pair and a CONTAINED angle or 3 sides

6.7 Find Angles Using the Cosine Law

15cm
8cm

B 12cm

Can you find the unknown angle using Cosine Law???

Try it!
y aZz= b2 +c2-2bccosA
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